What would GDP have been in 2009 if productivity growth didn’t slow down in the 1970s?

Notes for instructor (delete before distributing to students)
This is a relatively simple and straightforward assignment.  It can be assigned as homework to motivate or illustrate a class discussion, or can be used in a laboratory class, and the results are very powerful.  “Starter” and completed spreadsheets are provided with these instructions.

Introduction
In the Okun’s Law lab, we estimated that in the pre-1973 period, long run real GDP grew at about 4.1%.  From 1973-2009, we estimated that real long run GDP grew at about 3%.  Is this 1.1 percentage point difference really a big deal?  In this assignment, we will what real GDP would have been through 2009 if it continued to grow at 4.1% on average from 1972.
Detailed instructions

· Download the spreadsheet for this example and open it.

· Note that in the first row, you are given titles for the columns “Year,” Actual CW GDP (2005 base)”,  and “Projected GDP with 4.1% growth”

· The first column are the years from 1972-2009

· The second column is actual GDP data, in real chain-weight terms (centered in 2005, where real =nominal).  These data are real GDP data from the U.S. B.E.A., http://www.bea.gov/national/index.htm#gdp
· Select (highlight) cells C2-C39
· Click on the “Fill” button.  This button is in the “Editing” section of the Home ribbon, and appears as a box with a down arrow.  See image below:  (On earlier versions of Excel and Mac versions, Select the Edit menu, Select Fill, then series)
[image: image1.png]i L

Addins  Acrobat ©- = x
“insert | X - ﬂ A
" Delete
snn& Find &
romat - 7™ Fier~ Select~ |





· On the pull-down menu, select series, then Growth.  Type in 1.041 for step value.

· A series of numbers will appear.  These numbers are projected real GDP at a growth rate of 4.1% per year during this time
Questions
1.  How much larger would GDP have been in 2009 if the economy grew at 4.1% since 1972?  (Calculate in absolute and percentage terms.)

2.  Question 1 is perhaps unfair, because in 2009 the economy was recovering from a deep recession.  How much larger would GDP have been in 2007?  (Calculate in absolute and percentage terms.)

3.  Does a 1.1% point difference in long run growth rates lead to a significant difference in income?
